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Questions on 2.1 or 2.2? We're ready to rock 2.3 in the lecture.
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Differentiate the function. 1 ( l
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WebAssign's fine with my (unsimplified) answer. Only simplify if you have to, and this stuff
goes a lot quicker!
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Unless you stop me on Monday, I'm headed to Section 2.4.
We will prove that the derivative of sine is cosine!

It will all hinge on the following fact (which we prove geometrically):
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This fact is probably why I kept writing that Week 3 question the wrong way.

That problem almost gave Phoenix an aneurism, until I fixed it.
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Yes, it's good when things make sense. And, in a weird way, it's good that they don't make sense
when I'm spitting nonsense. That says you're in the pocket.
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